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Topic:- General Knowledge and Logical Knowledge

1) When is ‘World No Tobacco Day’ observed? / ‘W oy ﬁaﬂ' Dd HATIT SITdT %?
1. 24 October / 24 IR

2. 15t July / 1 QTS

3. 15t December / 1 TR
4.31% May /31 7§

Correct Answer :-

e 31%May /3193

2) Which of the following is not a freshwater lake? / ﬁ'ﬂﬁi@ﬂ' s ﬁ ﬁq’ Tﬂﬁ U &1 Eﬂﬁ qﬁ%”
1. Dal Lake / $¢ Sl

2. Mansagar Lake / HI ¥R il

3. Sambhar Lake / HIHR Eﬂﬁ

4, Wular Lake / gciX Eﬁﬁ

Correct Answer :-

« Sambhar Lake / T4 sﬂﬁ

3) Which of the following is a 51° district of Madhya Pradesh? / Faferf&d # | 1 AT HLAUSRT 1
517 forer 82

1. Morena / @T‘IT
2. Dewas / GaTH



4. Agar Malwa / 3ITIR HIcTd[

Correct Answer :-

» Agar Malwa / 3{TIR HI¢IdT

4) Which of the following territories does not have a border with Arunachal Pradesh? / fEda e

IS4 P WA HomEd Uew o1 Jarait F 7} forerd 82
1. Bhutan / HcTq

2. Manipur / Gf0TQR
3. Nagaland / ANTS

4, Assam / IH

Correct Answer :-

« Manipur / IIﬁTQ?

5) Which country won the ICC Women’s Cricket World Cup, 2017? / fpadwra en‘é?ﬁ@ﬁ afgdr
forre fay &1, 2017 Sitar?

1. Australia / &rﬁ%ﬁm

2. India / HIRd

3. England / 37018
4, South Africa / ETE‘IUT 3MBIhT

Correct Answer :-

« England/ 3"%_&';

6) Brand Finance has named as India’s Most Valuable Brand in its 2017 report. / Fis 17)73'#?7%
2017 Y RaE & P! YR & ITH TIdH 918 & U T AHifdpd fFar g
1. Wipro / fao

2. Tata Group / CICI HHg

3. Indigo Airlines / 3]31“ W
4. Infosys/g_'cbalm

Correct Answer :-



7) Chachai Falls is on river. / iﬁl’l’sﬁ NEECIG) TR %I
1. Bihad / 418

2. Sindh / Ty
3. Tapti / TGl
4, Betwa / aﬂa'[

Correct Answer :-

« Bihad / §IgS

8) Captain Roop Singh Stadium is a cricket ground in ./ PPATY Riz wfeaa
# fya Ta frde IS 71

1. Gwalior / TfeIAR
2. Sagar / IR

3. Rewa / JdT

4. Indore / EaT

Correct Answer :-

« Gwalior / TR

9) Ken Gharial Sanctuary is located at ___./ G| IS AYIRTY _ﬁ' Ra sl
1. Sagar / 'R

2. Chhatarpur / ©d¥4R
3. Rewa /X1l

4, Banjar / SR

Correct Answer :-

+ Chhatarpur / ®d¥4x

10) What is the ‘Darwaza Band’ campaign about? / "gXdTSIl s R fPadr aR A 82
1. Prevention of corruption / YETR P AHUH



il - - (S ’

3. Distribution of LPG cylinders / Tadtel Rciex & faarum

4. To promote use of toilets and curb open defecation / A & SUANT Bl deldl oA @T@H&ftﬁ
3P T o forg

Correct Answer :-

« To promote use of toilets and curb open defecation / Qe & SUAIT Sl T 3R Qﬁ Hﬁf W
3P T o ferg

11) What is the rank of India in the latest Human Development Index (HDI) rankings in 2017? / 2017 |

TAaH 94 I Yaeie (@ESIeng) T § URd 3t b1 Far 32
1.122
2. 131
3. 146

4.119

Correct Answer :-

12) ‘Burdwan Trophy’is awarded in WA 515 KL G H gwTieIa fpan Sirar 81

1. Football / Geald
2. Malakhamb / HORGS

3. Hockey / E'W

4. Weightlifting / H NG|

Correct Answer :-

« Weightlifting / YR

13) Where is Akshardham Temple, built in 2005 located? / 2005 ¥ ffifa sreRuTH wfew Hal R 82

1. Bengaluru / 3'3@3

2. Calcutta / bl

3. Hyderabad / %azlala
4. Delhi / feed



WUIITULL AIDWCT -

« Delhi / feca

14) Dilawer Khan started the Malwa Sultanate and established a capital at / IEGICIEEGIE] = Hrerar
Todd B 3T B, 3R T Ut IS B RITYAT Bt

1. Mandu/rl'i_gr
2. Vidisha / fafc

3. Burhanpur / gXgTIYR
4. Ujjain / IS

Correct Answer :-

e Mandu/ II'I_§'

15) To which of the following countries did PM Modi make his first foreign visit in 2014? / WUT o=

Ao = 2014 ¥ fFrafafed § & foa S o oo gl fagzr amn &1 ot 2
1. Bhutan / HcIq

2. Bangladesh / ST

3. Nepal / =OTdl

4. Pakistan / OTfoh T

Correct Answer :-

« Bhutan / {cTd

16) Who wrote “My Experiments with Truth” ? / "8I TRIIRHE fag Y STHDYUT e foredt i
1. Indira Gandhi / ST el
2. Mahatma Gandhi / HaTH] Trieft

3. Bal Gangadhar Tilak / STc] TTTTER IGNED
4. Karl Marx / STl ATRY

Correct Answer :-

¢ Mahatma Gandhi / HeTHI ey



& v TR Tode (quite) ¥ SuRTgty & Sniear & & i R it R wr are
1. Gopalkrishna Gandhi / TUTIH T el

2. Prakash Ambedkar / YD IR HFHSH

3. Sushil Kumar Shinde / g2 $HR i
4. Sharad Yadav / [Rq dlgd

Correct Answer :-

« Gopalkrishna Gandhi / TTUTcTg T et

18) Who was the Chairman of the Provincial Constitution Committee? / Tidig dfur aftfa & ST

B A2

1. Sardar Vallabhbhai Patel / FXqR dcelH "-ﬂ_ic ucd

2. Jawaharlal Nehru / STATgaTd g
3. B R Ambedkar / d 3R 3FSSH
4. C Gopalachari IESRICISIEIR

Correct Answer :-

« Sardar Vallabhbhai Patel / GRGR Ie@H HTS Ud

19) Mehak ranks seventh from the top and 28 from the bottom in a class. How many students are there in

the class? / T BT B Hed Y | Traai T 37 1 | 269 I T a3l 21 B A frad o

g2

1.37
2.34
3. 36

4. 35

Correct Answer :-

20) Who is the Chairperson the National Human Right Commission? / w@unﬁa SRPR AT &
e P 82

1. Justice Pinaki Chandra Ghose /Iﬂﬂﬁﬁwaﬂm
) (7)



o~ . . N

3. Justice K G Balakrishnan /IITCIEﬁ Gﬁm
4. Justice Cyriac Joseph /WIW{% Hl‘i‘l’\wcb S

Correct Answer :-

« Justice H L Dattu / <I[< Td T &1,

21) Find the odd one out: / T fawH JTd BIRTT:
1. Insat / STRIC

2. Moon / IgHT

3. Aryabhata / erfl'ﬁﬂ-l_g'

4. Apollo / 3TTAT

Correct Answer :-

22) If DREAM is coded FTGCO, then how is EFFORTS coded? / Tfd DREAM &Y FTGco A Pifed fHar wrar

T, 1 EFFORTS B &4 ifsd forar Srm?
1. FGGQTVU
2. GHHQSVU
3. GHHQTUV

4. GHHQTVU

Correct Answer :-

« GHHQTVU

23) Which number is written backward as 'Three thousand four hundred and two'? / P9 I g fs @

forem IR < 59IR IR ¥t g foredt et
1. 2043
2. 2042
3. 3240

4. 3042

Correct Answer :-



24) Find out the number of days from 15th Jan to 28th Jan of an year (both days inclusive). /@mﬁ? 15

SFaN & 28 SO} dF & dd & (&1 B 1 BITC (G T =mfarer §)1
1.12 days / 12 &
2. 13 days / 13 f&
3. 15days / 15 feeT

4. 14 days / 14 fa

Correct Answer :-
. 14days/14feT

25) If a fair coin is tossed, then what is the probability of getting head? / uﬁwﬁw&r Rras o) IoTe
wTe &t =fi o Y farat wilipan 32

I\J|»ﬁ

=

Laa |

(WS

Correct Answer :-

i\J|L—A

26) Complete the series choosing the missing number: / TG TBAT TADR YT DI RT DITOIG:
1,25 12, 27,58,
1. 120

2. 119



4. 122

Correct Answer :-

e 121

27) Complete the series choosing the missing number: / &I TBAT GADR YTl DI GRT DITOIG:
0.5, 0.55, 0.65,0.80,

1.0.85

2.1.00

3.0.90

4. 0.95

Correct Answer :-

« 1.00

28) Complete the series choosing the missing number: / & T TADB YLl Ed| T HIfTE:
50, 38, 29, ; 20

1.23

2.24

3.25

4. 22

Correct Answer :-

29) Select the option that is true about the Statements and Conclusions given:

Statements:
All rabbits are horses
Some kangaroos are not rabbits

Conclusions:
I. All kangaroos are horses
II. Some kangaroos are horses

| 39 AP &1 I+ FITE Sife f3u T Y=Y ik Fepuf & IR & 981 8:
(10)



gl TR e 8
PO P TN 81 &
ey

I.Wﬂ.m'?matﬁ%%
IL $© HRE IS §

1. only conclusion Il follows / Wﬁm 1l &WUTWT%

2. only conclusion | follows / Had e | WW%

3. neither conclusion I nor conclusion Il follows / 7 &1 fert | 3R 7 €1 fsm ] WW g
4. both conclusions | and I follows / s | 3R 11 ol WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows / 1 B f755Y | 3R 71 8t e 1) Wm%

30) If JOSEPH is coded FKOALD, then how is GEORGE coded? / Af¢ JOSEPH &I FKOALD &
HIfSd f5aT SITdT §, 9f GEORGE &1 &9 Pifsd fovar SIrm?

1. CBLODB
2. CADMNO
3. CAKNCA

4. CAKNI

Correct Answer :-
¢« CAKNCA

31) Who was the first Indian Prime Minister to visit Israel? / SoRISd B YT P31 a1 U’Eﬁ
YRA guT_ 7 1 42

1. Narendra Modi / :ﬁ_si nﬁr

2. Indira Gandhi / 3'3? ieht

3. Jawaharlal Nehru / STATER T A8

4. AtalBihari Vajpayee / 37¢d [9@R! aToud!

Correct Answer :-

e Narendra Modi / :ﬁ_&' Iﬂ‘cﬂ



combination: / 13 &t T sjren &, TS BT TS HH IUFRA §1 T W AT
3, 15, 45, 225, 675, 3370

1.45

2. 675

3. 3370

4. 15

Correct Answer :-

e 3370

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & T s §, W@ BT TP HH IUFRIA &1 Terd YA Ug=I=g
224, 195, 168, 144, 120, 99

1. 168

2. 99

3. 120

4. 144

Correct Answer :-
o 144

34) If tuhina means fire, arka means moon, vari means sun, chandra means water, dhara
means snow and hima means airand anil means earth.

What is essential for fire to burn things up? / Tlﬁ tuhina &1 344 fire %, arka &1 344 moon %,
vari 13 sun %, Chandra &1 34 water%, dhara &1 Jd snow%, 3R hima o1 34S airsér 3R
anil &1 34 earth%l

@t gl @ A 8 fire & T F1 Sa=T® 72
1. tuhina

2. anil

3. vari

4. hima

Correct Answer :-

e hima
(12)



35) If COLUMNis coded DPMVNO, then how is BRACKET coded? / 9fé COLUMN & DPMVNO
T pifed fHar SIrar 8, 9 BRACKET &) &9 wifgd forar smwme

1. CSBDLFU
2. CSBDLFS
3. CSBDLFV

4. CSBDJFU

Correct Answer :-

« CSBDLFU

36) In a certain language, /imbs are called feet, feetis called knee, kneeis called toe, toeis
called fingers, and fingers are called nails, then what is foe? [ T W HIHT ¥ limbs 1 feet
Dol \'rﬂ?iT?, feet®\ knee gl SIIdl %, knee B toe el SITdl %, toe & fingers gl SATdl %,
3R fingers G| nails bgl Sl %, o toe T %?

1. nails
2. fingers
3. knee

4, toe

Correct Answer :-

« fingers

37) In the following question, some group of numbers is given, all of which, except one,
share a common similarity while one is different.
Choose the odd one out:

/

g vy & Jemsit & oo 94qg far e 8, R I e & Siser v 9t ve IHEar welkia #vd §
S T 399 T 31

T® fquy 319 Fifoe:
1.28, 32
2.70, 80
3.21, 24

4. 54, 62

(13)



WUIITTULL AIIDWCT &

e 54, 62

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some pink are ruby
Some pink are garnet

Conclusions:
I. Some garnets are ruby
I1. All garnets are ruby

| 39 AP &1 Iu+ Fifore Sife fau 1w Y=Y ik eyl & IR & 981 8:
DY:
o TTe A0 &

TS ardl ST 8

frep:
1. S drHST AT @
I1. 9 ST wifvrey

1. only conclusion Il follows / Had fASHY || SFTTR0T BT &
2. only conclusion | follows / Fad shy | mm%
3. neither conclusion | nor conclusion Il folIows/:fép[ﬁl'Ga’Tﬁfl GﬁT:TEp[ﬁ'Wﬁf 11 WW %

4. both conclusions | and Il follows / fTsHY | 3R Il GH ST P &

Correct Answer :-

« neither conclusion | nor conclusion Il follows/:fép[ﬁ'@ﬁl Gﬁ'{:fépfﬁ'ﬁo_ﬁf 11 G@TUTW%

39) Select the option that is true about the Statements and Conclusions given:

Statements:
No timers are clocks
All alarms are timers

Conclusions:

I. No alarms are clocks
II. Some timers are clocks

| 39 AP &1 T84 P Sife fou e Y=Y o eyt & IR & 98 8:

DY;

(14)



Wt srarH gwafrEe €
e

1. v are et T 2
II. $° AP Ul @

1. only conclusion Il follows / &Had Ty Il WUTW%

2. only conclusion | follows / WWI &WW%

3. neither conclusion | nor conclusion Il follows/:féafﬁ'@’mfl sﬁ?ﬁﬁﬁmﬂf 11 WUTW %
4. both conclusions | and Ii follows / TSHY | 3R 11 G WW%

Correct Answer :-

« only conclusion | follows / &ad e | ST Hdl g

40) Select the option that is true about the Statements and Conclusions given:

Statements:
All buckets are plastic
Some buckets are rubber

Conclusions:
I. Some plastic are rubber
II. Some rubber are plastic

/ 39 fawe &1 au- Sifve S T e Y=t ok sl & ar & Idt 8:
DY
Tt srfeeat wifees &

freed:
I. PO WIRTP IS §
II. $O IS WP §

1. only conclusion Il follows / &Had T || GWUTWT%

2. only conclusion | follows / Fad e | WW%

3. neither conclusion | nor conclusion Il foIIows/:fglfﬁ'@l'Tﬁfl GﬁT:féTﬁEbe I &WW %’
4. both conclusions | and Il follows / TSHY | 3R 11 g &WW%

Correct Answer :-

« both conclusions | and Il follows / R | 3R 11 QAT STTRT] B &



10OPIC:= IMENtal ADIILY dna rentdl Apuauudae

1) N
In the sequence shown below, which figure comes next? / Al fe3r 96 wa #, Aol
Y TH [ 18T ] [ oY | 00
o9 ®*Ce L 1Ol 00
200 ®_® L 1 1 ] 00
1 11 i 4
L RO
eI
L JOL
1.

2.
lnjl ' .
0
C YN
3.
00
iy |
L X I B
4,

Correct Answer :-

Y X )

8@

L 1 I
2)

(16)



1 Uie 10nUwWIiTY wo oyudics Sl DSy UYetidpr, willell Ulie Ul uie [I0nuewilly upueoiei

is formed? / AfE dRT 29w 1w 2F a1 AAenig §, af oFa & O &l a1 o eeq a94ar
&7

i

T

[
(I
i

Correct Answer :-

(17)



In the sequence shown below, which figure comes next? / =@l &3 TR A #, el
TG Hi T ARE?

T

Correct Answer :-

4) Out of a salary of a person, 10% is deducted for house rent, 20% is spent on conveyance, 20% for
income tax and 10% on clothes. If he is left with Rs. 4,800, then, find his total salary. / U i & da
T 10% TS A & 1T geTan 97T §, 20% AR R, 20% TS & o8 6 10% Tl T
T foraT oIt 81 i I URT 4,800 FUL T4 §, 9 IYPT Hol a1 I Y

1. Rs. 12,000 / 12,000 39T
2. Rs. 10,000 / 10,000 ST
3. Rs. 14,000 / 14,000 3T
4. Rs. 15,000 / 15,000 3T

(18)



5) Mohit bought a stereo for Rs. 5863 and spent Rs. 1370 on repairs. He then sold it for Rs. 5700. How

much his loss? / AR 7 5863 TUY H Tep TAUT WRIST T ARG WX 1370 TUA W v fag | fbe
399 39 5700 TUY H 9 fear| IuH! g1+ fopait g2

1. 1533
2. 1035
3. 1633

4. 1420

Correct Answer :-
e 1533

6) The HCF and LCM of two numbers are 25 and 1750 respectively. If one of the numbers is 175, then
find the other number. / &} TSI & HETH THTUAD Ud AYdH THTIT HHT: 25 T 1750 8 1 AfS
ST A TP 1T 175 § Y g} =T D1 71 B9

1. 200
2.260
3. 240

4. 250

Correct Answer :-
« 250

7) A man can reach a certain distance in 15 hrs. If he reduces his speed by 1/5, then he goes 12 km less in
that time. Find his speed. / U J& Y U (Hf¥d gt a@ 15 G A uga aPpar g1 a9l s nifa 1/5 9
U B ¢, df Ia- 9Hg A 91 12 T o0 g8 9u % urar 81 S9! e Jid B

1. 3 kmph / 3 fHT gfa der
2. 6 kmph / 6 Tob 1 Tfct ger
3. 5 kmph / 5 Tt Tfcr der
4. 4 kmph / 4 T4t vl der

Correct Answer :-

(19)



8) What is the difference between the simple interest and the compound interest on Rs. 5000, at the rate

of 12% p.a. for two years, compounded annually? /A U mﬁ, & I & 'PQ'TQ 12% ufa a9 ot
R T 5000 T YR FIYRUT TS TG Tehqies TS & a1 § fohaT 3iav 32

1.Rs. 72/ 72 30
2. Rs. 45 / 45 3T
3.Rs. 17.50 / 17.50 30

4.Rs. 36 /36 30

Correct Answer :-

« Rs.72/72%W

9) Simplify the ratio 24 : 16 : 56 /24 : 16 : 56 Gﬂﬂﬁmwaﬁl
1.3:2:7

2.3:1:6

3.2:4:6

4.6:4:9

Correct Answer :-

e« 3:2:7

10) The least number, that must be subtracted from 297 so that the remainder is exactly divisible by 31

is / @Y T T o o 297 T ge™T U a1f Avwe gl =0 31 J fyurea g 9, @
1.21
2. 18
3.27

4. 14

Correct Answer :-

11) Sunil can complete a software program in 9 hours, Dinesh can do the same work in 6 hours, and
Rajiv can do the same work in 12 hours. If they work together, how long will it take for the three of them
_ - (20) - _ - -



¥ quf < TpaT B; T Wroa S BT @Y 12 el & qul o) Goar 21 9fg 3 WY B eva Far e
A Y Hrf quf et A et 3R @it

36 36

—hours / —

13 13
1.

bE oy

ﬁhours ! '—4

17 17
2.

Eh‘ours / By

15 15
3.

4—jhour3 / EE&T

16 16
4.

Correct Answer :-

ﬁhours ! ﬁﬂ'&
13 13

12) T used the discount of 16 % on a book that I purchased for buying a pen that costs Rs. 80. How much
did I spend in all? / §9 TP T&IH W 16% H1 T BT SUANT, 80 FUY Y Tl TP HAH DI TG
® forar| A9 g fan @ fHar

1. Rs. 720/ 720 ST
2. Rs. 500 / 500 ST
3. Rs. 400 / 400 ST

4. Rs. 640 / 640 ST

Correct Answer :-
« Rs. 500 /500 %0Y

13) Average age of A and B is 24 years and average age of B, C and D is 22 years. The sum of the ages of
A,B,Cand D is: / A U9 B P 31Td 3MY 24 9§ § U4 B, C T D B! 3 3T 22 T8 81 A, B, CTE D
P 3T BT UTHT 3:

1. 98
2.90

3.120
(21)



e - - ~ ~

Correct Answer :-

« Data is not adequate / S gaT gl %

14) Iread 3/8 of a book in one day and 4/5 of the remainder on another day. If there were 30 pages | left
for me to read now, then how many pages does the book contain? /® T e | Tdh YD dT 3/8aT HIT
TegdT § Ud QA 4/5a1 YT faelt 3 fa1 vean §1 afe 3@ Y ue & forw 30 Yy s=d & Y oo &
IELER LR

1. 440
2. 340
3. 240

4. 140

Correct Answer :-

« 240

15) A thief steals a car at 02:30 p.m. and drives it at a speed of 60 kmph. The police start the chase at the
speed of 75 kmph at 03:00 p.m. from the same point from where it was stolen. When will the police catch

the thief? / T TR GIUGR 02:30 To T BR I YRTAT & Td S 60 fobet ufey 6 1 7ifa & gemman 31
e I3t T T o8 A a1 TR 55, SIUST 03:00 T | 3BT 75 foutlt ufer ve1 &1 nifar & et wedt
21 gferT TR &1 pa up ST

1. 05:00 p.m. / T 5:00 oI
2. 04:25 p.m. / TR 04:25 Sl
3. 05:15 p.m. / ¥ 05:15 ol

4. 04:55 p.m. / T 04:55 ol

Correct Answer :-
« 05:00 p.m./ I 5:00 §S

16) If the area and perimeter of a rectangular plot are 180 sq m and 54 m respectively. What are the
length and breadth of the plot? / e TP ATIATPIR YES BT AAFE Ud URHTT SHHTT: 180 it dex iG]
54 Wex B Y YWS ! dars U9 ASTE 182

1. 6,30
2.15, 12

3. 18,10
(22)



Correct Answer :-

17) If a man is running at a speed of 18 kmph, what is the distance travelled by the man in 5 min? /?Tﬁ

gg'\ﬂr 18 fortlt iy e &Y 7ifa & <€is ¥/T1 8 O S0 U0 gRT 5 fiFe o fasit g8t ot arm aa &1

1. 1500 m / 1500 HIcR
2. 2500 m /2500 TR
3.2000 m / 2000 HIcR

4, 1000 m/ 1000 Hiex

Correct Answer :-

« 1500 m / 1500 HICX

18) In a fast food joint, 20 items are kept in the shelf, where 10 of them are vegetarians and 15 of them
are burgers. If 10 of them are chicken burgers, then how many of them are mutton burgers? / ¥ TI¥C

BS Siise A 20 TEI3 BT STHRT H I@T 4T ], SIET S8 & 10 WMHERI & Td 15 TR 1 ai ITH |
10 fpa TR g, 9t Hea ok fpaa 82

1.0

2. 10

3.5

4. 15

Correct Answer :-

19) A can do a piece of work in 12 days and B in 16 days. Starting the task with A, if they work on
alternative days, the total work can be completed in: / A Udh T Bl 12 ﬁ:ﬁﬁ' DAl %’ TA B 16 ﬁ:ﬁ |
FATE | A &A1Y BT YRYH R U AfE 3 THhiaR 1 § &1d o § ot o i o qul gl
ST 5|

13; days / 132%
1 2 fu]

(23)



2 2
13- days / 13=fga
) 3
3.

4.13 days /13 f&A

Correct Answer :-

2 2
13=days / 13=fg=1
3 3

20) The sum of the ages of Father and Son is 66 years. 3 years back, the ages of father was 5 times the
age of son. Find the difference between the present ages of Father and Son? / foar Td qq 4| S Ca
RTGd 66 a9 81 3 T4 qd U $t 3G G Ft 3G 71 5 1 A1 a1 o g3 Ft If6 3y F7 3R
BIGERd

1. 31

2.40

3.32

4.35

Correct Answer :-

21) If 40 % of a number is one fourth of 80 % of 2400, then the number is / Tlﬁ U BT BT 40 uﬁﬁ’lﬁ,
2400 P 80% PTTH AAUTS g df TSI 8:

1. 2400
2. 1200
3. 1400

4. 4800

Correct Answer :-

(24)



joiﬁ thé claaés. Fi:d tﬁe néw rarvrerzrlgrer vsrlerightrofr trhre cTass. / 750 @'ﬁﬁ aﬁr W DET WFS-ﬁ"FI?T aﬁl} 56 ﬁv_ﬂ;
21 55 U1 e 60 from aTal S U BT wer A T g1a € | HaiT o1 4T 3iud g% J1d B |

1. 40.15 kg / 40.15 f41

2. 50.28 kg / 50.28 fob U

3. 58.50 kg / 58.50 fabu

4. 45 kg / 45 fobur

Correct Answer :-

« 50.28 kg / 50.28 fopam

23) The ages of Shyni and Thomas differ by 15 years. If five years ago, Thomas's age was twice as much
as Shyni's, then, find their present ages. / RIS Td YT &t S & 19 15 98 o7 3iaR g1 afe urg oo
Td 419 B Y M3 D1 1Y A SR At S |1 3y F1d B |

1. 20, 35
2.30,5
3. 40, 25

4.25,10

Correct Answer :-

« 20,35

24) Mohan and Sohan are 24 and 28 years of age respectively. How many years ago, the ages of Mohan

and Sohan were in the ratio 0f1:2./1:ﬁ3=f®'\=h€7{3% 3TY hH: 24@28 atf%I ﬁﬁﬁaﬁquﬁ'ﬁ
T I DI SR BT SFUTd 1:2 T2

1. 100
2.50
3.20

4.25

Correct Answer :-

25) One year ago, Vinu was four times as old as her daughter. Six years hence, Vinu's age will exceed her
daughter's age by 6 years. The ratio of the present ages of Vinu and her daughter is: / Th CL] Uﬁd’lﬁ

(25)
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1.3:6
2.6:3
3.3:9

4.9:3

Correct Answer :-

26) Find the value of {55+ 60 -3 — (2/2)} / {55+ 60 - 3 — (2 / 2)} BT HIH JTd B
1.27.5

2. 111

3.112.5

4.55

Correct Answer :-

« 111

27) IfA:B::ll:SandB:C::6:7,thenA:C::/QﬁA:B::11:5Q'3B:C::6:7%?ﬁA:C::
1.11:7
2. 66:35
3.66:7

4,35:7

Correct Answer :-
e 66:35

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁ'ﬁ' ﬁ'a 11'&

IR Tal 7 F S 91, 71 723 T va & fepa qum 18?2

Josef

Weststr. 62,
(26)



(i) Josef
Weststr. 62,

Emsdetten, 42282

(ii) Josef
Weststr. 62,

Emsdetten, 48282

(iii) Josef
Weststr. 62,

Emsdetten, 48282

(iv) Josef
Weststr. 62,
Emsdetten, 48282

1. iii

29) Find the average. / 3T Eﬂ?fﬁl
21, 25, 29, 31,33 & 29

1.22

2.28

3.26

(27)



Correct Answer :-
e 28

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / e &Y TS mﬁ, H@@W&ﬁﬁ@ﬂﬁ%ﬂ%l e SIS B Ugd :
i.qdbdh70930dhbq

ii.qdbdh70930dhbq

iii.qdbdh70930dhbq

iv.qdbdh70930dbbq

1. 1

2. 1v

3.ii

4.1

Correct Answer :-

o iv

Topic:- Science and Simple Arithmetic

1)

The prime factorization of anumberis 2 X 2 X 2 X 3 X 3 X 5 X 5 X 7 X 7. What number should
it be multiplied by to make it a perfect cube? / U F&AT th HA B:I:'U'Iﬂ@? 2X2IXIXKI K3

X3X35XTX7 8 gH g TEaT ¥ 90T R oW R 95 907 9 @ Sre?

1.21
2. 105
3.15

4. 35

Correct Answer :-

« 105



In the given figure, PQ) and SR are two chords of a circle such that PR 1 Q8. 2Q + £5=
/ fgw ora foF #, PQ @M SR UH gca @ U Sitard § T PR L QS. o 2Q +48= )

P

Q S
N
R
1.180°
2.90°
3.45
4.60°

Correct Answer :-

[+]

- 90

ABCD is a parallelogram in which £I) = 73® and side CD is produced to point E.If #C =x and
£CBE=y.thenx+y= ./ ABCD u& HHIcH = &, BEd «D =75 3T o1 CD @t

fdg E oo derar 791 §1 Ofg £C=x 3 2CBE=y.dl x+y=

[ B

tr

1.180°
2,150
3.105

4.210°

Correct Answer :-
(29)
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4)1+3+5+7+9+11+13+15+17+19+21+23 =__
1. 102

2. 112

3.122

4. 132

Correct Answer :-

. 122

5) If 4x — 5y = 0 and xy = 12, then the value of 64x3 — 125y3 is: / ﬂﬁ' 4x -5y =0dUTxy =12, a
64x3 — 125y3 &1 A =1 gm:

1. 120
2. 240
3.-240

4.0

Correct Answer :-

« 0

6) ‘Plants and animals are made up of cells’ was stated by: / ‘W% 3R Ug] HIRw13 T a4 &,
TG 31 §RT HgT TT AUT:

1. Leeuwenhoek / W

2. Robert Brown /%:::::T‘src‘m?,:r
3. Schleiden and Schwann / TS G?RQHFT

4. Purkinje / Qﬁ

Correct Answer :-

« Schleiden and Schwann / TS GﬁTW

(30)



respectively. What is the length of the train? / T YTTIST 800 H. TUT 400 Iﬁ ars ard a’rga’rﬁ
PHRT: 100 THS YT 60 THS B YR Rl 8| o DI Aa1s fohasit 82

1. 100 m/ 100 .
2.200 m /200 H,
3.120 m/ 120 .

4,150 m/ 150 .

Correct Answer :-

« 200 m/200 H.

8) A patient in a hospital is given soup everyday in a cylindrical bowl of diameter 14 cm. If the
bowl is filled with soup to a height of 8 cm, how much soup must the hospital prepare every day,

if it has to serve 500 patients? /wmﬁwﬁﬁﬁuﬁrﬁﬁ 14 Y. T 916 AAITPR FelR |
gu e S 31 afe welk § gu s A, 9% WR1 R, 9 Sreudra &) uid A fovaer Ju duR s anf,
gfe 59 Sregdra # 500 M &2

1. 61.6 liters / 61.6 Tex
2. 616 liters / 616 Tex
3. 0.616 liters / 0.616 TIex

4, 6.16 liters / 6.16 e

Correct Answer :-

. 616 liters / 616 Tlex

9) Ramesh bought a motor cycle for Rs. 125000 and spent Rs. 15000 for accessories. If he sold

the bike for Rs. 161000, what is the profit percentage? / THRT F 125000 TYT P Hiex AGhd WG
3R 15000 U TIRTN TR W 1 A 3T 18P 161000 TG H I, A SHBT @14 Ufer=Ta 152

1. 15%
2. 16%
3.12%
4. 18%
Correct Answer :-

e 15%

(31)



10) Rahul’s income was Rs. 80000 per month. A pie chart is made to express his expenses in
different purposes and his savings. He saves Rs. 16000 every month, what angle will his savings
be represented in the pie chart? /Tgcl P 3 80000 T Uy 718 f1 T urs =1¢ ¥ 39 gR1 fafy=
el § fpT S a1 W=t 9 I=Id) ®1 ad [T 741 81 98 U HTE 16000 YA B! T2d Bl €, uTs °1e
H IS TG DT DIV R GRIN?

[+]

1. 36

[+]

2.72

[+

3.60

[+

4. 62

Correct Answer :-

[+]

e 72

11) Which one of the following equations has x = 4 as a solution? /e § 9 fra aifiorur 1 ga x
= 4 I?

1. (x +3)(x —2) = (x + 2)(x— 3)
2. (x—4)(x - 6) = (x— 2)(x — 3)
3. (x—4)(x +4) = (x + 4)(x = 3)
4. (x—4)(x +6) = (x—2)(x—4)
Correct Answer :-

s X—4HE+6)=x—-2)(x—-4)

12) If two interior angles on the same side of a transversal intersecting two parallel lines are in

the ratio 4 : 5, then the measure of the larger angle is: / af¢ TP &1 TH YSIT & &I SATAND HIVN BT
SFUTd 4:5 8, 51 &1 THiaR v@rsl 3! fade ¥u I ufafea #wd §, 9 98 Yor &1 |1y 5= ghm:

1.100°
2.80°
3.110°

4.108

(32)
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13) The area of a rectangular field is 3aZ + 5ab + 2b2. One of its sides is (a +b). The length of the

fence around the field is: / TAATPR AGH BT ATHE 3a2 + 5ab + 2b2 § | SHB! TP Y©IT (a + b) &1 A
P ARI 3R AR IART DI GETS 7 B

1. 8a+ 6b
2.6a+8b
3.2a+2b

4,3a+2b

Correct Answer :-
« 8a+6b

14) Name the kind of connective tissue found on nose bridge and ear lobe. / T {& AT HEUNT W)
TR S 9T Teh TR & JYTSIl Sredeh BT 19 15|

1. Tendon / HST

2. Ligament / Y RS
3. Cartilage / IRy

4. Bone / 31Ty

Correct Answer :-

« Cartilage / SR

15) Which principle is applicable for the separation technique involving ‘Centifugation’? / JUdh 0T

-1, e sradgor saf-ifed giaT 8, & forg S a1 Rigia Suge giar 82

1. Lighter particles are forced to the centre while denser particles remain on the sides. / Sc'ab HON BT dQ’IlﬂS‘l‘ G2
& T T ST 8, SIafdh & HUT fhIRI IR I8 5 |

2. Denser particles are forced to the centre while lighter particles remain on the sides. / o BN Pl W
&g T AT 1T §, SIaih geh B[Rl R X8 6|

3. Immiscible liquids separate out in layers when denser compound remains on top. / SI& T OfE WY W

Ed & a9 3ifhyufi 59 WRal # gy g1 & & |

(33)



T, a9 i Fa A F QUE I
Correct Answer :-

» Denser particles are forced to the centre while lighter particles remain on the sides. / - BN Bl aﬁq\a%
g T T 1T §, 9191 geh BUT [h-IRI IR I8 B

16) The unit of voltage is: / e Bt ETFI"&: = %:

1. Ampere / TRRR
2. Volt / dlee

3. Joule / ST

4. Watt / 9ic

Correct Answer :-

. Volt/dlee

17) The image formed by a plane mirror is: / FHad guul g1 fiftfa wfdafds 'Gﬁ?lT%

1. Real behind the mirror and of the same size of the object / YU & Uies ardfde qu CN@? THR & UM
2. Real at the surface of the mirror and enlarged / U DI g W IRdfae Td uikafdia
3. Virtual behind the mirror and enlarged / U1 & Ules SITURTT ot afkafefd

4, Virtual behind the mirror and of the same size of the object / YT & UTes STURIT T ] & MHR &b
JHA

Correct Answer :-

« Virtual behind the mirror and of the same size of the object / YT & Ui STUTT T ayd & HTHR oD

18) Metallic oxides turn ./ UTfcap 3173;"33’ EIE?I%%I
1. blue litmus to colorless / =icl feTeHY &bl ?TI_Eﬂ:T |

2. red litmus to colorless / ATA feIeHy &I WTEH |

3. blue litmus to red / =a folewy &I < |

4. red litmus to blue / @A feleHy P i A

Correct Answer :-

« red litmus to blue / @ foflerwd & il §
(34)



19) Jelly like material that make up the inside of the cell is: / St ﬁ'mu?:rzf Sl BIfRAPT & Haw &1
YT STl 3:

1. Water / SIdl
2. Protoplasm / Stiaged
3. Cytoplasm / DIRBIGH

4. Nucleus / TTH®

Correct Answer :-

« Protoplasm / Sitaged

20) Halley’s Comet appears once in how many years? / %ﬁ Ca) %{q% fpa auf & Uh dR femar %?
1. 100 years / 100 8

2. 76 years / 76 g

3. 150 years / 150 T

4. 500 years / 500 CL

Correct Answer :-
e 76 years/ 76 Gl

21) J. Chadwick discovered a sub-atomic particle. What are the characteristics of that particle? /ﬁ

ASIAP A TP IURHATUIGS HUI T ATISPR forar| 39 Hur P fa=ivane w8

1. It has negligible mass and has negative charge. / I 0 GHH ® JUT BUTHS I &

2. It has negligible mass and has positive charge. / TIH UG G % TUT YATHD A %
3. It has significant mass and has positive charge. / o8 d® goqEe & YT YTTeD 3
4. It has significant mass and has no charge. / sﬂ'ﬁ Tl QH %T‘Rﬂ ﬁ‘é IGEN :I—pr%l

Correct Answer :-

o It has significant mass and has no charge. / gﬂﬁ W% GgHH %T‘T?ﬂ ﬁé A :I@%I

22) What are the crops grown during the rabi season? / ITHTH S Eﬁ?ﬁ P9 O Bad T:v‘_"ﬂ_s;\_rl'l?ﬁ%"
1. Black gram and soya bean / BT T 3R AT S

2. Maize and pigeon pea / HIDH] 3R 3G

(35)



4. Wheat and mustard /ﬁgGﬁTW

Correct Answer :-

¢ Wheat and mustard /ﬁ‘éaﬁv'\fm‘r

23) The substances added to prevent food containing fat or oil from developing a foul smell
are: / 991 T ad gad Mo A SegeR 7Y &) fawRid 819 9 A9 & o 3ud e 9= ard ueref
gl

1. Sweeteners / HioT & aren

2. Colourants / I8

3. Flavourants / 3{T¥dig®

4, Antioxidants / Ufd3iialieR®

Correct Answer :-

« Antioxidants / UfdefiRiieR®

24) The filtration units of kidneys arecalled___ . / J5®| @I eI 3P _____ Hgdam!
gl

1. neurons /aﬁmaﬂﬁmq

2. urethra /W

3. ureter /H?laT%:ﬁ

4. nephrons / 9&h Y]
Correct Answer :-

» nephrons / g&h U]

25) Name the tool used with a tractor for sowing seeds in a field. / @dl # §ef 911 & forw T
P Y SUANT BT I 918 IUSHRUN BT A7 Faisd |

1. Combine /[C
2. Cultivator / @ﬁl@?

3. Hoe / Pald
4. Seed drill / ST GfUA

Correct Answer :-
(36)



26) Aggregation of similar cells performing a specific function constitutes: / T® faf2y uerd
PR G T HIRMB13M FTIT=EIT TS §7 gidT 8¢

1. Cell membrane / SIRIHT el
2. Cell wall / BIfRrepT PR
3. Atissue [/Udh SHdd

4. An organ / T 3T

Correct Answer :-

« Atissue J/Uh Hddh

27) ya—b yb—-c yc—a =
1. X2(21-4—b+c)

2. X(a+b+c)

3.3x

4.1

Correct Answer :-

28) High speed wind can cause cyclone in regions of . [/ SHE T qag &
&=t | TshaTd A B Abdl gl

1. moderate temperature / HTYUROT dTY
2. high pressure / 3=l ald
3. low temperature / 19 @0

4. low pressure / 9 gId

Correct Answer :-

o low pressure / ﬁga‘d

29) A wheel takes m rotations to travel a certain distance while another wheel whose diameter is
four times than it, takes n rotations to travel the same distance. The relation between mand nis: /

(37)



T 8, W g8 70 PR R 0 99 AT R A T o wed e wee 2
1.n=4m
2.n=2m
3.m=2n
4.m=4n

Correct Answer :-

« m=4n

30) The compound interest on a sum of money for 2 years at the rate of 10% per annum
compounded annually is Rs. 315. The simple interest for the same sum for the same period at the

same rate is: / TP HYIRIRT, 10% AT ® Tehgfg B TS o3 W 2 a4 $I 3afer A 315 U ) &l 31
I YFRIR UR, Y AT &2 UR 9 YA Saftr § |rerRor sarst = givm:

1. Rs. 300 /300 304
2. Rs. 280 /280 304
3. Rs. 305/305 304
4. Rs. 270 /270 30

Correct Answer :-

« Rs.300/300 398

(38)



